SAP ABAP table T/TRU51AV PT {Calculation Rules for Averages: Connection of Frozen Average }

TOO0O
T7RUS1AV _PT-MANDT = TO0O0O-MANDT
—————— 0..N | MANDT [CLNT (3)]

e T500L
T7RUbS1AV PT-MOLGA = TSOOL-MQLE;_A_ - 0-.N |MOLGA [CHAR (2)]

.
—_—

T7RU51AV PT-AVRUL2 = T61AV _A-AVRULE T51AV_A

_________________ | MANDT [CLNT (3)]
_T7RUS51AV_PT-AVRULE = T51AV_A-AVRULE 0.N MOLGA [CHAR (2)]

AVRULE [CHAR (4)]
- ENDDA [DATS (8)]

ST T554S
e~ MANDT [CLNT (3)]
0..N' | MOABW [NUMC (2)]
SUBTY [CHAR (4)]
ENDDA [DATS (8)]




